	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =
	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =
	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =
	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =

	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =
	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =
	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =
	I ТУР.
Я: 24∙11- 24∙10 =
К: 73 ∙ 2+ 73 ∙ 8 =
И: 5 ∙ 159 ∙ 2 =
Н: 68 ∙ (528-528) =
У: 59+30+11 =
З: 58+29+12+21 =
А: 2 ∙ 11 ∙ 5 ∙ 3 =
Н: (79 – 78) ∙ 214 =



	120

	214
	330
	0
	1590
	24

	

	
	
	
	
	

	I ряд
Консультант –  Карабут Т.




	120

	214
	330
	0
	1590
	24

	

	
	
	
	
	

	I ряд
Консультант -  Юдина В







	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =

	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =

	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =
	I ТУР.
И: 11∙ 29 – 10 ∙ 29=
М: 48 ∙ 7+ 48 ∙ 3 =
Я: 25 ∙ 19 ∙ 4 =
Г: 92 ∙ (528-528) =
У: 39+20+11 =
Е: 59 + (79 - 78) =
Д: 2 ∙ 11 ∙ 5 ∙ 6 =
Н: (38 + 62) ∙ 57 =





	70

	480
	60
	5700
	29
	1900

	

	
	
	
	
	

	II ряд
Консультант –  Резников Б.






	70
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	60
	5700
	29
	1900

	

	
	
	
	
	

	II ряд
Консультант – Долбин Д.








	70

	480
	60
	5700
	29
	1900

	

	
	
	
	
	

	II ряд
Консультант – Ерофеева Д.






	





	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =

	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
	I ТУР.
А: 38∙21- 38∙20 =
Б: 78∙3+ 78∙7 =
Ы: 25 ∙ 12 ∙ 4 =
Ж: 57 ∙ (528-528) =
У: 61+(20-11) =
Е: 18+29+12+41 =
Р: 2 ∙ 3 ∙ 5 ∙ 6 =
Д: 67 ∙ (79 - 78) =
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38

	

	
	
	
	
	

	III ряд
Консультант – Орлова В.
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	III ряд
Консультант –  Левина А.







